
 
 

Protecting Your Adventure Lifestyle 
 
======================================================================================== 

● ● ●  

Warrior, Inc. 
16850 SW Upper Boones Ferry Rd  
Ste. A 
Durham, OR 97224 
Phone: (888) 220-6861 
Fax: (503) 692-0364 
customerservice@warriorproducts.com 
www.warriorproducts.com 

 

840 – Hi-Lift Mount 
Installation Instructions 

 
 

1. The installation of this kit is very straight forward. In your kit 
you will have two large outer mount plates, some hardware 
and two linchpins. 
 

2. You can locate these mounts on either side of or on the rear 
basket portion of your rack. 
 

3. Once you have decided where to locate the Hi-Lift jack, hold 
one of the mount brackets centered over a dimple plate and 
utilizing a light colored pencil, mark your drilling locations. 
Repeat for the remaining mount bracket. 
 

4. Drill out your marks with a 3/8” drill bit then deburr 
and touch-up paint the holes to prevent rust. 
 

5. Using the supplied 3/8” x 1” hex bolts, 3/8” washers 
and 3/8” Locknuts, bolt the brackets onto the 
dimple plates.  
 

6. Set the Hi-Lift jack down into the recesses of the 
large outer mount plates and snap the linchpins 
through the uppermost holes to secure the jack.  
The 3/8” carriage bolts, larger washers and wing-
nuts provided are to be used through the oblong 
holes that index with the holes in the Hi-Lift jack.  
Alternatively, a lock may also be utilized through 
these oblong holes on the bracket for security 
purposes. (lock not provided) 
 

7. Your installation is now complete. 
 
 
 
 
 

For more information on Warrior Products Jeep Parts and Accessories, please visit us on the web 
at www.warriorproducts.com 

 

 

mailto:customerservice@warriorproducts.com
http://www.warriorproducts.com/
http://www.warriorproducts.com/

